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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Choose the correct answer.
Each question carries 1 mark.

1. Answer any eight questions : 1x8=8
(a) Which one of the following is not a nitrogen containing metabolized by product ?

(1) Blood sugar

(i) Urea

(ii)) Uric Acid

(iv) Creatinine
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(b) Which one of the following is associated with protein denaturation ?

(1) Application of strong acid or base
(i) Application of inorganic salt
(1) Application of organic solvents

(iv) All of the above
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Which one among the following is a membrane protein ?
(1) Plasmalogens
(i) Lecithin
(1) Glycophorin
(iv) Prostaglandin
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Amino acid containing sulphur atom in its side chain is —
(i) Alanine
(i) Aspartic acid
(i) Methionine

(iv) Leucine

The nitrogenous base present in DNA but not in RNA is —
(1) Adenine

(i) Thymine

(i) Guanine

(iv) Cytosine
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(f) In DNA, the number of hydrogen bonds present between Adenine and Thymine are —
@ 3
(i) 2
(i) 4
(iv) 6
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(2) The release energy obtained by oxidation of glucose is stored as —

(1) a concentration gradient across a membrane
(i) ADP
(i) ATP
(iv) NAD+
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(i) ADP
(i) ATP
(iv) NAD+

(h) Which one is an essential amino acid ?

(1) Lysine
(i) Citric acid
(i) Alanine

(iv) Aspartic acid
[P.T.O.]
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(i) Which of these is not a lipid ?
(i) Fats
(i) Oils
(i) Proteins
(iv) Waxes
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() The vitamin essential for blood clotting is —
(i) Vitamin A
(i) Vitamin B
(i) Vitamin C
(iv) Vitamin K
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2. Answer any six questions : 2x6=12

(a) What is the full form of ATP? What are the basic components of ATP?

(b) What is mean by glycolysis?

[P.T.O.]
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(c) How is lactic acid produced by fermentation?

(d) Define enzyme inhibitor with example.

(e) What is the function of peptide hormones?

() How is blood samples preserved?

(2) What are the effects of unbound bilirubin in human body?

(h) Write the principle of determining the saponification value of oil.

3. Answer any two questions : 10x2=20

(1)  (a) Write short note on: Kreb’s Cycle.
(b) Give two functions of lipids in biological systems.

(¢) What do you mean by quaternary structure of a protein? Give an example of a
protein which shows quaternary structure.

(d) What is the role of ATP as cellular currency? 3+2+3+2=10
() (a) Explain denaturation of proteins.

(b) What is mean by irreversible inhibition of enzymatic activity? Explain with a suitable
example?

(c) What is the difference between a nucleoside and nucleotide?
(d) What do you mean by Co-Enzyme? Give an example. 3+3+2+2=10

(i)  (a) What are the three general steps of a blood coagulation process? Which one among
them acts as the rate limiting step?

(b) What are the main causes of anaemia?
(c) How do you identify carbohydrate by Molisch’s test.
(d) Give three main functions of blood. (2+1)+2+2+3

(iv)  (a) What is the role of Ca’ in blood coagulation?
(b) Write short note on glycaemia.
(c) What is Lieberman-burchard reaction for cholesterols?

(d) What are lipoprotein and its function? 2+3+3+2
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